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A BPAPN L= RS I
3 Ny g Hat
Celr XXIHE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AbR e & 1t 32,463,197 31,787,551 675,646
= 35,280
== 66,257
Al 32,361,660
ANLHE Ags 235 9,335,264 10,164,660 A\829,3%
= 35,280
== 66,257
Al 9,233,727
Ax S 479,42 2,102,875 1,623,383
= 32,495
Al 446,997
ANE2g 287,002 280,939 6.063
201 Ler=23 | 207,600 195,700 11,900
01 At2teltl 56,600 49,200 7,400
O eS| 36,200
OANEEE g2xd 5,500,000& 5,500
oAlglel & Mg 6,400
-olE M 2,500,000& 2,500
-JISIH A% 1,500,000 1,500
-E2= MH 1,000,000& 1,000
—HERZ QI 1,000,000& 1,000
-=a A 202 7Y 400,000 400
OAlgl HHES M 3,300
-2 AOIA M 3,000,000& 3,000
—HEE &N M 300,000 300
oMegRed UWEHI 7=
1,000,000 1,000
OANZ&H3 =& 1,000,000& 1,000
OEXAN HE2 HAISE 7
500,000 500
094 g=+Y 800,000& 800
OXNXtelHl 2= EE2= M
2,500,000& 2,500
O0Ig2 22223 HEI
3,200,000& 3,200
OANZES &1uktg &
1,000,000& 1,000
OZt23|o 2d(F,2AdR U= S)
1,000,000& 1,000
oolszglsl 2y =25 7Y
1,000,000& 1,000
OXgtgolsl 28 =28 78
1,000,000 1,000
oZ2xJ| #Xl - g2l A 29
8,000,000& 8,000
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2A: AXAEE
B KA g As)
Celr XXIHE EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O A2 TIEEUY 23 A
3,000,000& 3,000
OANBZLIH SIHAH(ARRS, 223
& SHAL 5,000,000& 5,000
OEJ HSAIE E2D|19 & A}
4,000,000 4,000
OS0 HOAIR =HEA} 3,000,000& 3,000
OAIRA], BSR4 JHE 2,500,000 23] 5,000
OG ARIE &I J&X| A
10,000,000& 10,000
OO 3L A 20,000,000& 20,000
202 Ot 21,652 24,789 A3,137
01 =WO4bI 21,652 24,789 A3,137
OANEZE 2RF2 17,652,000 17,652
OANZELH 22 s&3HM &4
2,000,000& 2,000
OLSMEI IR HR2FH
2,000,000& 2,000
301 LPENZ 45,750 48,450 AN2,700
11 HAAHIXIE S 26,750 29,450 A2,700
OSARHEL S AMENE 2E3HI
1,350,000& 1,350
OFE AE - 2 (RAE - 225) =& AE
A= A 1,500,000& 1,500
OZ U AIRIQIE =&AL 2t
1,200,000& 1,200
O0|SE MBAE A B4
20,000,000 20,000
OLSA E2HH| & ZH| 24t
2,700,000 2,700
14 JIEt2 43 19,000 19,000 0
OAZLNE SSAIC E&2TH S M
150,000& 8024 12,000
O22 AIEE2LIH & Al4
200,0002* 10 2,000
OZ Al AIE2LIH 29 5,000,000 5,000
303 Zai= 12,000 12,000
01 Z&32 12,000 12,000
O0|Z9 ZEIZ2A ZH
12,000,000 12,000
OISE AMllBE(Ex) 52,990 49,531 3,459
& 26,495
Al 26,495
201 Lt | 52,990 0 52,990
T 26,495
Al 26,495
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A BPAPN L= RS I
B RgEE olg As)
&Rl gel® XX 2dae (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBZAE =2(LIIN, 3RH &)
100,000 x5 %103 5,000
OXgE =X 2 HEANE =&
200,000 x4 H =13 800
CIARIR S =& 100,0002 68 * 123 6,000
ONItNEINRE HAts=E
200,000 +7H 1,400
Ol =] 32,601
OFAZZE L= 95,0008 %5133 14,535
OEEZE tst 66,0002 +51 3,366
ORs4 XA 22= 4,500,000 4,500
OHATE AU(FH) 200,0003 %51 10,200
O=¢gtl 8,500
OQAL HE=2 6,500,000& 6,500
OQIAt ESAIR 2,000,000& 2,000
03 Ar=EHI 33,500 33,500 0
OF 2 EPHN(SRE, SRH)
500,000 +50 25,000
O==9= & EXME SFA 24E
50,0002 x50 2,500
OLRSRE 22 it
100,000 ~60& 6,000
202 04l 249,700 239,700 10,000
01 =LHN LI 7,200 46,200 39,000
OAr2 | g 7,000,000& 7,000
O WsY HAZ DN HE AH=z+E
40,0002 x5 *13] 200
03 =L R0 27,500 22,500 5,000
OZEIZ o 2,500,000& x1H 2,500
OEIH0E HAZE ol
5,000,000& +6H 25,000
04 =XlI=todbl 215,000 171,000 44,000
O X (FE, 80)3RH A=
5,000, 0002 39 195,000
CEXME SRA2Z X oA
5,000,000& »4H 20,000
303 Z&a= 59,000 59,000
01 Za= 59,000 59,000
O0E014 2% SR IUA=
600,000 +80H 48,000
O=+=28 Ald 100,000 +80H 8,000
OR+=2AM A& 300,000 *20H 2+53] 3,000
307 lztol & 210,210 208,650 1,560
o7 g=Xls=s 210,210 208,650 1,560
[ U= 210,210,000 210,210
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A BPAPN L= RS I
B RgEE olg As)
el gl xHEF L (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 12,808 29,643 16,835
11 SIS0t oA AS A 12,808 29,643 16,835
OMNAZAAE S22+
12,808,000& 12,808
309 HES 1,500 1,500
02 SRFHSAUSHILUNES 1,500 1,500
0T D00 SIS
1,500,000 1,500
403 TR SHMSAH=01H 34,007 4,141 29,866
02 SIS0t =S A A 34,007 4,141 29,866
OXHHEET LA ZAIAL o1Te) 3
& 34,007,000& 34,007
ussd 1,000,600 833,600 167,000
nsed 1,000,600 833,600 167,000
201 er23| 464,600 304,600 160,000
01 AtR2t2|HI 464,600 304,600 160,000
O DS 410,000
OEPIZ DEEEAH 222
90,000,000 90,000
OUel(J) st XA 20,000,000 20,000
oXY AT A D
200,000,000 200,000
Ot SR 22 u=s 20,000,000 20,000
ORKNE g nF(33)
60,000,000 60,000
OLEE &8 1A =S u=s
20,000,000& 20,000
O=3=+¢ 4,600
OXAM T SE LA+E
1,000,000 *42] 4,000
OXMuE &8t SAt+E
150,000 *43] 600
OZZLHY 22015 2 WS
50,000,000& 50,000
202 04| 536,000 529,000 7,000
04 =XIS+0IH] 44,000 37,000 7,000
O8It nE(63) afAA+
6,000,000 5 30,000
O3 IS o=
7,000,000 1 7,000
OS3ZEZeIHUE il
7,000,000 *1H 7,000
05 SR W0 492,000 492,000 0
O32& W0l 492,000,000 492,000
[=ESELES 804,332 604,332 200,000
AEoIa 804,332 604,332 200,000
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2A:

B RgHE g As)
=9l Helg=s EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 342,000 300,200 41,800
01 2LHoIH 2,000 2,200 A200
O=U2 us g2xFd 2,000,000& 2,000
03 =S R0 210,000 210,000 0
O3+ 2 KHI(SFLYR, =M, =
HIEAH S) 200,000,000& 200,000
O2=0 EXE KRXNES
10,000,000 10,000
04 =NI2t01H] 130,000 88,000 42,000
022 ADSHEA 2 OHI(HEL A,
g 2y S) 130,000,000 130,000
301 EtE NS 69,000 69,000
08 212+91=2| 44| 38,000 38,000
O=1l RSTALE L2 ZH(IM, MS
, 235, 8AHI0l 8) 38,000,000& 38,000
09 2ABI=HNHI 25,000 25,000 0
O=U2 S ALF g2 S (S
M=, 23, 82H0 S)
25,000,000 25,000
11 dALEBIXIZE S 6,000 6,000 0
O=2U2 NHSSEA SSLEWF
6,000,000& 6,000
ARl SRS K 164,300 107,900 56,400
201 fet=3| 8,000 8,000 0
03 A= 8,000 8,000 0
021201 TASAK 2228
8,000,000 8,000
301 EtE NS 156,300 99,900 56,400
06 AHELHUHALEIXIZ 140,400 84,000 56,400
ORELYN SFY X2
84,000,000& 84,000
OXs2 8l U=Hl XA
120,000& #4470 56,400
11 AALEIXIES 13,900 13,900 0
ONASA BE 21K 2A (S, #AL S
) 3,000& *1,800H 5,400
032 € Cu9 =2USsUH SN 24
100,000 *45% 4,500
OXESAMN WS &I 22t
10,0002 400 4,000
14 JIEt2 = 2,000 2,000 0
L= ARIEH K 2e| 24
100,000& %10 1,000
O NESAAL &
100,000 %10 1,000
Helgsas 40,358 40,930 NB72




2A:

3 Ny g Hat
chel: tHelge (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 21,258 21,830 ABT2
01 At2teltl 6,308 6,880 A572
oget=ZH| 2,428
olgs H42Fd 800,000 800
OE=DI F (A HNLS)
6,000& x100& 600
0RFY B3I HYRS BB(H42)
1,028,000 1,028
O=¢g| 3,880
Olgs HRFA 1,000,000& 1,000
O0=gdg J2J| N2 24
2,880,000 2,880
03 Ar=EHI 14,950 14,950 0
ORYEAT DEXZ KA
5,00024 5002 2,500
OAMSIEH S AIZI2tAL =8 6,750
O+ M= 5,000& »5002 2,500
o8 M& 50, 000& *20K 1,000
OO XI= 4,000 *500H 2,000
omzt M= 25,0002 *50H 1,250
OARIEH S Al2I22tA X1
300,000& 19 EHS 5,700
202 04| 1,400 1,400
01 =LHO LI 1,400 1,400
OleEs gy 500,000 500
OARIEHHl 2R = 900,000 900
206 M=l 17,700 17,700
01 M=4l 17,700 17,700
OJt27] ZOIME(A T & wH)
30,000 » 100K 3,000
Ot20] 7N, 2AsSZEe)
10,0002 *400H 4,000
O30 (01201 & ZEIIE)
5,000,000& 5,000
OSHS 2ZY =0 L (SHS M)
300,000& 19 EHS 5,700
AMEIEH 22X 393,933 400,988 AT,095
307 212+01& 333,933 340,988 AT,095
02 2B HAHE L 200,588 208,588 28,000
O =8 SLAER2 SLFEHa A3
= 26,000,000 26,000
OZHAl OIS & Stotsti=l
35,000,000 35,000
Og=st I=H 2=)| 2=
33,840,000& 33,840
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2A:

X XH -
o=

NSy A st
a9l ielss (e & )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,131
Al 1,696
307 lztol & 5,654 4,830 824
= 2,827
== 1,131
Al 1,696
02 LB HANHEE 5,654 4,830 824
O=2gz 5,654,000& 5,654
= 2,827
=S 1,131
Al 1,696
NASAZ LS (AHESAE 2CIUHIOIE X)) (EX) 64,906 61,940 2,966
= 32,453
=S 12,981
Al 19,472
307 @I2to| & 64,906 61,940 2,966
= 32,453
= 12,981
Al 19,472
02 2B YAIHE A 64,906 61,940 2,966
OXESAH ZOUI0IH X2 =4
64,906,000 64,906
= 32,453
= 12,981
Al 19,472
ANZ THASAHIE 2HIXIE (2X) 50,000 50,000 0
== 15,000
Al 35,000
307 212+01™ 50,000 50,000 0
[ 15,000
Al 35,000
02 2B A HE L 50,000 50,000 0
OAlZ NASAHE 234l XA
50,000,000 50,000
= 15,000
Al 35,000
MOIESXIEX R &&z(EX) 4,500 7,500 A3,000
s 2,250
Al 2,250
301 EtE NS 4,500 7,500 A3,000
& 2,250
Al 2,250
M Hetssti= 4,500 7,500 23,000




A BPAPN L= RS I
3 Ny g Hat
o2 e (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONDISXIER NG &at2
4,500,000& 4,500
= 2,250
Al 2,250
5|ULts JIESAE XH(EX) 3,000 3,000 0
== 900
Al 2,100
307 212+01& 3,000 3,000 0
< 900
Al 2,100
02 LB HAHE L 3,000 3,000 0
OslYLt=s JIEESAE X3
3,000,000& 3,000
= 900
Al 2,100
XOpts UEE MssSAE 2S(EX) 5,000 5,000 0
s 1,500
Al 3,500
307 212+01& 5,000 5,000 0
[ 1,500
Al 3,500
02 B A HE 5,000 5,000 0
OFODIs XS HSEME X
5,000,000& 5,000
= 1,500
Al 3,500
AESAHAE 29 306,648 248,821 57,827
307 @20l & 306,648 248,821 57,827
02 QB HANEEX 81,500 67,500 14,000
OXESAHAE AFEH 81,500,000 81,500
03 LM EHE2SHIEX 225,148 181,321 43,827
OXSAE 22HI(Ql24H])
225,148,000 225,148
SH=R 3,878,599 3,325,920 552,679
HNASX L AEE X 3,878,599 3,325,920 552,679
101 @124H| 117,130 50,728 66,402
MU IIRINZZE2NSES 117,130 50,728 66,402
O=F FUAE ZAANS 22Y 117,130
oJlZ2=s 76,9602 x232 x4 x 122 84,964
o= 76,9603 x5L x4 H 12 18,471
OdxtReRItrE
76,9603 x 12 x4 x 122 3,695
o428z S 2,500,0002 x4 10,000
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